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CHAPTER 8

Integration Techniques, L’Hopital’s Rule, and Improper Integrals

Exercises for Section 8.7

Numerical and Graphical Analysis

utility to graph the function to support your result.
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In Exercises 1-4, complete
the table and use the result to estimate the limit. Use a graphing
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In Exercises 5-10, evaluate the limit (a) using techniques from

Chapters 1 and 3 and (b) using L’Hépital’s Rule.
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In Exercises 11-36, evaluate the limit, using L’Hopital’s Rule if
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necessary. (In Exercise 18, r is a positive integer.)
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. In Exercises 37-54, (a) describe the type of indeterminate
(if any) that is obtained by direct substitution. (b) Evaluz -
limit, using I’Hopital’s Rule if necessary. (c) Use a g
utility to graph the function and verify the result in part &
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. In Exercises 55-58, use a graphing utility to (a) graph the
tion and (b) find the required limit (if it exists).
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